paduk nuTaHma obyyatowmxca MAQY COLL Ne 30

1 CMEHA
Ne n/n | Bpemsa nutaHus Knaccol MecTo nuTaHus
1A, 165, 1B, 1T YKENTbIN 3AN
L =220 14 OPAHEBbI 3A/1
3A, 35, 46, 4B YKENTbIN 3AN
2 10:00- 10715 5A, 56, 5B OPAHXEBbI 3AN
7A, 76, 7B, 7T YKENTbIN 3A/
3 10:55-11:10 |9A, 95, 9B 3E/IEHbIN 3ATT
8A, 85, 8B OPAHXEBbI 3A/1
A 11550 = 151 BB 10A, 105, 11A, 116 OPAH}HEBI::IVI 3A/T
3EJIEHbIN 3A/
2 CMEHA
1 13:00-13:30 [O6ep MM 1 knaccol 3EJIEHbIN 3A/1
5 LA STAAAD 2A, 26, 2B, 2T H(EﬂTbIl/l 3AN
38, 4a 3EJIEHbIN 3AN
3 15:20-15:35 |6A, 65, 6B OPAHEBbIN 3AN
4 15:30-15:45  [MongHuk MMJ 3E/TEHbIV 3ANT




